Seat No. :

N19-102

December-2014
M.Com., Sem.-I11I
504 - EE Management Accounting-I
(New)

Time : 3 Hours]

1. wdlR (A g x - Geulerd 53 9 wird Ucds HaA™LAl usd-l
YL 2Udd 9.

A B: 5 B, T 10 Baigls Guisd »iemd Bud.A
B -l Gyd adld BGal €ls T 15 aat WAl edl 2u s
dx$ el ed FUL MelAl 4 5 Haq™MIA : C »id
d-l Gaigls Gud T 13 edl

el UHYAL 2id DR x Al WIUR
MlaAMLAL QUL {12 {aol 24l edl.

11,000 (el Haa--dl av Fal
HIAAHL YRl [Quari [asdye

(M weulaseld gl ‘

(D) dAslaus usd2 w1614 \

224l
(A) AdAlasly (@ reusly [saell ygld QAL dsidd 13l 7
(B) &5Mi % d o)

(1) A wid2 [Baell ygla-di 61 dsiad weual.

2 51G-2 ([sa-{la)-l Auasly (B0l ualani you effis g

3

y [saell ugla-dl = waleitl el

Hi oalst il ¢ 3
AA1Easld (@6l uglani of sael weual.

Aensly el ugla Felal dani Gua(l Al — 1xwmAl.

AAtasla [Bawell uglaxt Amusla Bawell ugld 4 a1 AW 9. —
AHoAAL.

N19-102 1 P.T.O.



2. (A) T (A Al 25 [@eudt 80% &Mdl 2 T 12,00,000 « dALL 52 9 i d-il

vyl 1 yHiel 9. 7
(4
adlaldl wal
sialad wur (Rar) 1.80,000
A WAl dAeIL 2%
52 i 42 (RaR) 17,500 '
qaiel wal &
WU  dAlel-ii 8%
sl vl daieiHi 2%
del ABA  dAwIHL 1%
[z oL wal
g3l (R2R) 30,000

MLy dAel 1%
2y WAl dARIHL 4%

90% 11 100% &Ml alaldl, daiel 24 [Adzel Ly
I

SO
el uatdl 22 20yl d-dl Haletl q4enal.
(B) M d G-l %dlel L.
(1) ieua-l siduel ol Hedl

(2) MR 6% (Master Budget) i 3 25l (ML) 540 99 2
(3) ielwust i yal4H . ELECTIE
(C) 2A5-0{ dL54HL wdlol

3
(1) ieswAld > \?
(2) MR 6% udget) L 61 SINEL UL
(3) 3l vl Wi dled g ?

Al aule

dla 2elruat

BUAUL RUAA A5l A vRUR A5l Haaell sulag uxs
14

(AU 21541 80,000) | (MW 2AsHL 70,000)
L4 3
64.00,000 58.80,000
25.60,000 25.20,000
8.00,000 7.56.000
12.80,000 12,60,000
Raz wia Wy 3,20,000 3,36,000

N19-102 2



2y Hilsdl :-

(@214 WA ("EACEY
SIAL ML 44219 4 [3al 4 [3al
Baigls waaidl Bud 8 29
WSHELS HYR SALSL 5 4.50
sdlsels vyRl 32 % 2.40
W2 sdls el Aldd v 23.20 34
vsHElS R wRia Wl 24 Z4.80

w2al
(A) wisis] dlogel i il digi @diyds 244l

(B) [@ua-l Aluaul Gyl die-i-l daeidaie: 334l
4. (A) 2 l?:l ddl SIRUIHME WMIeL 4sdl uglddl Gualdl 53 9

?’l'j_,ﬂ'lcllrl AER AU AIREL HaAM v [@aad Wkis 2 6,
9. ol [aaandi- sRei-dl dwd sHi 2ud dl d-l 4 uls

quieudl 20 wFuL of WAl 2qsn uReuml :.»utm (a4 ‘{l%l-'u wal
T 1000 2. YHRAMS wadi-l v T 2,000 ugl i glat-l
AL 0.40 €9.
dd 2 [adAdl duan sal samel 52
AW [AdAl dw 52l S0 2
»Yql
ARH [ WA 2014 i waAFA QR
Rl dwaAal Wl T 750 a9 2t
wadiAl Wl T 900 u9l. o [aud
s;qd HAdL ASA dH 9. [QuaA
[Quaq-dl dwua s1u 434l A
(B) [Qaa-dil du-i Q@ Mg

? Y doudadl 59

3600 AHAML 2,
Sld dl del YHUIRMS

dl [Fda-- il T 4000
AedlarL 0.40 ¢9.

d eudl. vil-ait Hiddrl GualaL 5.
Al 7

I

5. AL YewusHdiAi ay el 5 % AL WAL 9. ARl 5 quydl W

BAGL YAE 52U 14
RUAsly [saell ugla-dl 2l ?

(b) [RHMid widz

d, (d) Al Wid2
*@‘ E-mu-{l ugla -l 2
% il Blelw YA ei-iddl

2 SM1R] 24 2ietua-dl 2vumell sl

1 uMa el edl Mledl 2 sl

Y [Saell ugla 441 e swAId .

[l ygld Aoid 4d 9

(a) oasia-i Helul (b) idRs [Hely wsdui
(c) ousl [Hely g3d™i (d) UMl 2isyel Al
Ausl [Baell ygla 1sia 9214 o .

(a) & (b) usdR »i5a uglami
() LBl -RUSIA vedlaHi (d) 2uHidl 2isvel 8l

N19-102 3 P.T.O.




(5) ielw={ld quel visHl 2w Fd s8]l A 9.

(a) [Eael [@euat gzl (b) i[Hu3la [@eat gzl
(c) sHAR] [euat gl (d) 5P [@eet gl
(6) udd UYL HIE Gulerril vsHels WLl w2l A Fld 55l 2d ©.
(a) [Bawel [@ouat gzt (b) 2-w[RYI Qe glzl
(¢) sHaR) [@euat g2t d) s Qe gl

(7)  ~lRnizl 534 Qa0 9 2
Gouwle 51d 4dl e e siwel ulkul. ...
(a) Oeslired o1%2 vl YU 2R LB YA 2UAA 9
(b) s1ae(l ielrust qHlRe ©.
(¢) Add (Continuous) el HHUQ 9.
(d) (b) i (c)

(8) sae(l syt .
(a) uRad-la ey
(b) [RAR elwuat
(¢c) 95424 (Incremental) #1%2
(d) 9 2ERA vielut

©9) [Baadi-dl dw- vd-ae Etﬂc-l%l %ﬁ&a

(a) C=(1-P)L C< (P

() C<(1-P)L (d) Cx
(10) <ol w2l [[add =

(a) 5HELS WMLl 15l (%2 mztl ¥

(b) SHELS WHIBL A5l (WIWR %ul

(c) 612 WUl (SHELS YHILL btivta 51)
(d) v w2l (ASHELS UM £l WIYWR isl)
(11) HanHA YWY [@Quad = 2 72
HIAAHIA que [@
HlAAHIA M [Quan
(a) T+ 19,700 (

)
1)

(b) T -19,700 (uld)

() T+5750 (d) T -5750 (uld)

(12) 2AqcUles AHA . sAlseEls YRl WMILL e T 1240 i+ sdAlsels
13-l 60 dl vdcules dd [Aua L.
(a) % (b) T -2610 (uld)

3

(c ) d) T+2610 ()

A [Bieziglid glal Acua-u

il elau-l Adeanl

(c 4 2ig0d ¢l Aenanl

d) Gunidl visuel €l

{Anizll 54 QA dud-d didad 9l ?

(a) wisstaRa{ld YAusdl Hidda  (b)  v-de Hiza
(c) 25U WS il d) udv Hidd

N19-102 4



Seat No. :

N19-102

December-2014
M.Com., Sem.-I11I
504 - EE Management Accounting-I
(New)

Time : 3 Hours]

1.  Samir Ltd. manufactures product x and the direct material cost is bu as fo 14
Material B : 5 Kgs at ¥ 10 per kg. The price of material B 0 after the
above budget was formed to ¥ 15 per kg. In the light of t ormation, the
management has carried out a market study to confirm th terl can work as
substitute and is available at ¥ 13 per kg.

At the end of the budget period the statement indicated that product x
was produced to the extent of 2000 units by usi ollows :
Quantity used 11,000 kgs at the cost of T 1
Analyse the material cost variances
(I)  As per traditional method
(I) As per nppnrtumty c
(A) Explain the een management accounting and financial
accounting. 7
(B) Answer 0) 4
o differences between management accounting and cost
t 1s the main role of management accountant in management
ting ?
( any three limitations of management accounting.
Answer in short — one or two lines : 3

(1) Write any two advantages of management accounting.
(2) Financial accounting does not useful for decision making — Explain.

(3) Management accounting depends upon financial accounting — Explain.
N19-102 5 P.T.O.



2. (A) A department of Rimsha Ltd. attains sales of ¥ 12,00,000 at 80% capacity and

its expenses are given below : 7
<
Administration costs :
Office salaries (Fixed) 1,80,000
General Expenses 2% of Sales 0
Rates and taxes (Fixed) 17,500 ‘
Selling costs :

Salaries 8% of Sales

Travelling expenses 2% of Sales

Sales office 1% of Sales
Distribution costs :

Wages (Fixed) 30,000

Rent 1% of Sales

Other expenses 4% of Sales

Draw up flexible administration, selling and distri
at 90% and 100% of capacity.

OR

Define Budget and its limitations.
(B) Answer any two :

(1) Write any two advantages

(2) What are the two main

(3) Write any two t‘ren
(C) Give answer in one or t ines *

(1) Whatis Bud co ?

(2) Write any ges of master budget.

(3) Whatisc xpenditure budget ?

udget, operating

master budget ?
orecasts and budget.

ation, prepare reconciliation statement showing reasons for

3.  From the fol
* al and expected profit : 14

(Expected units 80,000) | (Actual units 70,000)
L4 L4
64.,00.000 58,80,000
ct material cost 25.60,000 25,20,000
ct labour cost 8.00.000 7,56,000
Variable overhead 12,80,000 12,60,000
Fixed overhead 3.20.000 3,36,000
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Other Information :-

Particulars Expected Actual
Consumption of Raw material 4 kgs. 4 kgs.
Material cost per kg. X 8 9
Labour hours per unit S 4.50
Labour cost per hour 47 < 2.40
Variable expenses per labour hour < 3.20 X 4
Per unit Indirect cost < 4 < 4.80

OR

(A) Explain in detail single plan and partial plan.
(B) Explain the merits and demerits of dual plan system for recording variances.

4. (A) Ayan Ltd. operates a standard costing system in its factory. Based on its past

(B)

record, it appears that the material cost variance happens to be ¥ 6,000:a month,
on an average. If the cause of the variance can be found and is correetible, the
correction process will require two months. This correction is likely to have
favorable effect for a period of two months. The investigation of variance will
cost ¥ 1000. Correction of the cause of variance will cest ¥ 2000 and the
probability for finding the cause 1s 0.40.
Would you recommend launching an investigations? Why 2 What is the
minimum probability of finding a correctible cause that would justify an
investigation ?
OR

In Sarim Ltd. an adverse material usage vanance of ¥ 3600 was reported in
March 2014. The cost of investigation theé variance would be ¥ 750 and the cost
of corrective action, if the variance proves 46 be contollable, would be ¥ 900. It
i1s estimated that the savings which would be earned from correcting the
variance, if — it were controllable would.be X 4,000. The probability that the
variance 1s controllable is 0.40.

State whether the variance should be investigated ? Use cost-benefit model.
Explain the different models for investigation of variances in brief.

5. For each of the following Sub-questions, more than one answers are given, out of
which only one answer 1§ cerrect. Select the correct answer. Give necessary
calculation or explanation.:

(1)

(2)

3)

(4)
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Which technigue (method) is not of management accounting ?

(a) Standard costing (b) Marginal costing

(c) Deegision accounting (d) Service costing

Which character is not for management accounting ?

(a) “Toprepare planning and budget.

(b) Comparing Budget with actual performance.

(¢) Provide latest information to management.

(d) Management accounting is compulsory for business.
Management accounting is concerned with —

(a) Past decisions (b) Internal decision making
(c) External decision making (d) None of these

Financial accounting concerned with —

(a) Future (b) Technique of cost control
(c) External financial reporting (d) None of these

~ 3
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3)

(6)

(7)

(8)

9)

(10)

(11)

(12)

(13
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Budgeted unit sales are normally determined by

(a) The account department (b) The engineering department

(c) The personnel department  (d) The marketing department

Standard quantities per unit of product for direct labour are normally determined
by

(a) The account department (b) The engineering department
(¢) The personnel department  (d) The marketing department '
Which of the following statements is true ?

The master budget process for a manufacturing firm ‘
(a) may be referred to as either incremental budgeting or zero base budgetin

(b) may include appropriation budget.
(c) may include continuous budget
(d) (b) and (c)

Appropriation budgets are

(a) Flexible budgets

(b) Static (Fixed) budgets
(¢c) Incremental budgets
(d) Zero base budgets
State cost-benefit analysis model in investigation of:
(@ C=(1-P)L

(c) C<(1-P)L

Sales margin volume variance =
(a) Standard profit per unit (Budget
(b) Standard profit per unit (Act
(c) Budget units (Stand. profit 1 al profit per unit)
(d) Actual units (Stand. pr
Material Cost Varian
Material Usage Varianc
Material Price Var
(a) +19,7
(¢c) T+5750

Idle Ti
labour

(a)q ¥

(F)

(b) I -19,700 (A)

(d) T-5750(A)

, Standard labour rate per hour is ¥ 12.40 and Actual
is ¥ 11.60, then find out Idle Time variance.

(b) T -2610(A)
F) d) % +2610 (F)

v

ility that the variance is uncontrollable.

bility that the process is in control.

C) obability that the variance is controllable.

(d) None of these

Which is not a cost-variances investigation model ?

(a) Statistical signification model(b) Cost-benefit model
(c) Control chart model (d) Graphical model

(




